[X=H7E]

H 72 B 5 A B
13:00 b5 - 211w E
14:00 2ExE |BEE-ENsE
5aiyﬂ 14:45 RBEE |MTIBE
15:30 AEEE  |BEC
16:30 NARERT
8:00 GG -
9:00 HREE |B¥=E
ﬁmﬁ?ﬁk%#i# 5
5H22H . = (1) ERE B LR —7
(8) 9:30 WEE | O EABBEI—F Ak
HERE—E5~ 8 —3 - 4 Bk — R
16:30 HKEE |FA=XFE)
RN Vaxay
[HRE]
(BHBR =) (GEEES)
1 H&EE 1 HAXES
2 BEBIRE 2 RIEHREK
BFEE LtEEtHRESEER 3 RE
TFHER BEEBELFEEFK 4 BY|IRET
BFEAN R XK EBEFEKXKEIY) 5 sEE
TFEAN ER B EFEEXTF)
3 BHIRETR
4 ZBFEE
HEXEMREAISEER
EaRXK MHE EF
5 LBEBOHES
- Y4 (Y = ‘A
[F{XEx HEIE]
F1H G5 F2: 5815
75 =] 7 =
1 ] ( )= )| It BRIC H)-C )L =
2 | B¢ H)-C )H|E 3 2 7 ( )=-C )i =
3 |EM T )-C )H|A 33|t BR|(C )-C )| E
@& Z(( )-C A B &lO|I =(C )= )= E
5 [i] ( )= H#E 35T =Z(C )= )= g
6 |EX T(( H)-C )|t | 6 i) ( )= )= E
@& Z(( )-(C )| B@E B & - )T =
8 & A -0 )|t fR| 8 |5T =0 )= )& T
9 [i] ( H)-C )t fix| 9 | EBIC )= )& T
O[& Z(( )-C )i =5 BC H)-C ) B &
1A AC - )T =

ORXZFDHAR




